

$$T = \frac{\pi}{2}$$

$$y = \tan\left(-2x + \frac{\pi}{2}\right) \xrightarrow{x=0} y = 1$$

$$AC = T = \frac{\pi}{2}$$

$$S = \frac{1}{2} \times 1 \times \frac{\pi}{2} = \frac{\pi}{4}$$

۱

$$x^2 - (\sin a)x - \frac{1}{4} \cos^2 a = 0 \rightarrow \frac{x}{a} - \frac{r}{r} \sin^2 a - \frac{1}{4} \cos^2 a = 0$$

$$4 \sin^2 a + 4 \sin a - 1 = 0 \rightarrow \sin a \begin{cases} -\frac{1}{4} \text{ و } 0 \\ -\frac{1}{4} \text{ و } 0 \end{cases}$$



$$\tan^2 a + 1 = \frac{1}{\lambda} + 1 = \frac{9}{\lambda}$$

۲

$$\log(\sin a) - \log(-\cos a) = \log 2 \rightarrow \log\left(-\frac{\sin a}{\cos a}\right) = \log 2$$

$\tan a = -2$        $\sin a > 0$        $\cos a < 0$        $a$  در ربع دوم است



$$\sin a - \cos a = \frac{2}{\sqrt{5}} + \frac{1}{\sqrt{5}} = \frac{3}{\sqrt{5}} = \frac{3\sqrt{5}}{5} = \frac{3\sqrt{5}}{5}$$

۳

$$\sin^2 \theta + \cos^2 \theta = B = \frac{5}{8} \quad \cos^2 \theta + \sin^2 \theta = A \rightarrow A = \frac{5}{8}$$

$$A - B = \underbrace{\cos^2 \theta - \sin^2 \theta}_{\cos 2\theta} + \underbrace{\sin^2 \theta - \cos^2 \theta}_{-\cos 2\theta} = \cos 2\theta - \cos 2\theta = 0$$

$$A = B = \frac{5}{8}$$

۴

$$\frac{r \sin x + \sin x \cos x}{r - r \cos^2 x} < 0 \rightarrow \frac{\sin x (r + \cos x)}{r(1 - \cos^2 x)} < 0 \rightarrow \sin x < 0$$

$$\sin x \times \tan x - \frac{1}{\cos x} > 0 \rightarrow \frac{\sin x \times \frac{\sin x}{\cos x} - \frac{1}{\cos x}}{\cos x} > 0 \rightarrow \frac{\sin^2 x - 1}{\cos x} > 0$$

$$\cos x < 0, \quad \sin x < 0$$

$a$  در ربع سوم است

۵

|                                                                                                                                                                                                                                                                                                                                                                                                                           |    |
|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----|
| $\tan x + \cot x = r \csc rx$ $\frac{r}{\sin rx} = -\frac{r}{\cos rx} \rightarrow -\frac{r}{r} = \frac{\sin 11}{\cos} = \tan$ $\sin rx = \frac{r \tan x}{1 + \tan^2 x} = -\frac{12}{13}$ $r \csc rx = \frac{r}{\sin rx} = rx - \frac{12}{12} = -\frac{12}{9}$ $\frac{r}{\sin rx} + \frac{r}{\cos rx} = 0$ $r \tan = -\frac{8}{r}$ $1 + \tan^2 = 1 + \frac{8}{9} = \frac{17}{9}$                                           | 6  |
| $\frac{\sqrt{1 + \sin 80}}{\sin 80 + \sin 10} = \frac{\sqrt{1 + \cos 80}}{\cos 80 + \cos 10} = \frac{\sqrt{r \cos r_0}}{\cos 80 + \cos 10}$ $\frac{\sqrt{r} \times \cos r_0}{r \times \cos \left(\frac{80+10}{r}\right) \cos \left(\frac{10-80}{r}\right)} = \frac{\sqrt{r} \times \cos r_0}{r \times \underbrace{\cos 40 \times \cos 30}_{\frac{1}{r}}} = \sqrt{r}$                                                      | 7  |
| $(1 - r \sin^2 \delta) (r \cos^2 10 - 1) \left( \frac{1 - \tan^2 r_0}{1 + \tan^2 r_0} \right)$ $= \cos 10 \times \cos r_0 \times \cos r_0 \xrightarrow{\times \sin 10} \sin 10 \times \cos 10 \times \cos r_0 \times \cos r_0$ $= \frac{1}{1} \sin 10 \xrightarrow{\div \sin 10} \frac{1}{1} \times \frac{\cos 10}{\sin 10} = \frac{1}{1} \cot 10$                                                                        | 8  |
| $\sin a + r \cos a = r \rightarrow \sin = r - r \cos \rightarrow \sin^2 = 1 - \cos^2$ $r + 9 \cos^2 - 12 \cos = 1 - \cos^2 \rightarrow 10 \cos^2 - 12 \cos + r = 0 = B$ $\delta(\cos ra) - 12 \cos a = \delta(\cos^2 - 1) - 12 \cos a = 10 \cos^2 - 12 \cos a - \delta = A$ $A = B - 1 \rightarrow A = -1$                                                                                                                | 9  |
| $\sin \hat{B} \sin \hat{C} = \cos^2 \frac{\hat{A}}{r} \rightarrow \sin \hat{B} \sin \hat{C} = \frac{1 + \cos \hat{A}}{r}$ $\sin \hat{B} \sin \hat{C} = \frac{1}{r} \left( \cos(B-C) - \cos(B+C) \right) \xrightarrow{B+C = \pi - A} \cos \hat{A}$ $\frac{1 + \cos \hat{A}}{r} = \frac{\cos(B-C) + \cos \hat{A}}{r} \Rightarrow \cos(B-C) = 1 \rightarrow B-C = 0$ $B = C = \sqrt{r} \rightarrow A = 110 - 155 = 35^\circ$ | 10 |